N = 0l & At & Ml A

B A A
M MY S4
Sl HMS NE 2 X CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
AL AR D} 7,570,365 8,736,119 N 1,165,754
= 108,093
Jl 839,736
= 328,959
= 6,293,577
Mo 4 7,032,701 7,872,542 N 839,841
Jl 839,736
o 306,394
= 5,886,571
H=s s 2 X 3,772,125 4,246,256 NA4T74,131
o 300,000
= 3,472,125
M= BHAE Hal 200,000 200,000 0
307 QI2t0| & 200,000 200,000 0
04 CIZ2tSHALAIS B X 200,000 200,000 0]
ONd= s A3 200,000
CHQZAF ME U S 70,000 70,000 0
307 2Iz2t0| & 70,000 70,000 0
04 SIZ2ISHAAISH E X 70,000 70,000 0
OUsEU L SH2HAF MU 70,000
=2 £M4AI] U3 40,000 40,000 0
307 2iz2tol A 40,000 40,000 0
04 QIZ2tSHAFAFS B X 40,000 40,000 0
ON=ZdHsMEY" XAAT U 40,000
M= =32U3 140,000 380,000 A 240,000
307 QI2t0| & 140,000 380,000 A 240,000
04 CIZ2tSHALALS B = 140,000 380,000 A 240,000
Od=2=z10=s7203 140,000
d= =3 U3 330,000 330,000 0
307 2I2t0| ™ 330,000 330,000 0
04 CIZ2tSHALALS B X 330,000 330,000 0
Od=2Us=3203l 330,000
S .otA MXEHE 150,000 100,000 50,000
307 2Iz2t0| & 150,000 100,000 50,000
04 SIZ2HSHAAISH E & 150,000 100,000 50,000
Os -otH d8XEHE KX 150,000
2= H=s0is XS 24,740 44 140 A 19,400
201 LBt | 16,740 11,740 5,000
01 AP 22| d| 16,740 11,740 5,000
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3 MsaY |4
Sl HMS NE 2 X CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OAEZ=[3 Mzl 882 =9 M=
60,0003 *54 2~ *153] 4,500
OAZxMs L X2 2D 24
8,000& »4H +70 2,240
OAE AZEUs AlE Xt 10,000
405 TtHabF S| 8,000 30,000 A 22,000
01 et EFFHSHI 8,000 30,000 A 22,000
OHILIAZ AEY HalD] 8,000
AEHSUHI S XX 137,504 113,600 23,904
202 44l 2,400 2,400 0
01 = LH 4 HI 2,400 2,400 0
OAZ=[Hg #IXI0Y & dXNEH 7 F&
60,0003 x2H 20! 2,400
203 YR =& 20,000 20,000 0
03 Al =AY R 20,000 20,000 0
OM=sla gRF& S 20,000
307 gl2tol & 115,104 91,200 23,904
03 BIAHMNHE2IHIELS 115,104 91,200 23,904
OogFzZH=ss 2dH X 67,852
—ANR=E 23l 1,000,000 x1H x12& 12,000
—&dgHE EH 228l 800,000 x1H 6 4,800
— AFR 2t 2l Hl 1,300,000& 122 15,600
— 82X 2=2Y 2,121,000 18« 128 25,452
-1 25U « BE= 10,000
OgZzZMeM=s 234 XN& 47,252
—AR=E 23| 1,000,000 «1H = 12& 12,000
— AFSR 22/t 400,000& 123 4,800
— 82X =g 2,121,000 «1H«12& 25,452
e RAH € BE= 5,000
S 24 182,952 182,952 0
301 LeBAF 182,952 182,952 0
o=t - 2SRES243 182,952 182,952 0
Oz e 8=+ 4 182,952
—Jlgsrsad, 388)
1,993,000 x7H x12& 167,412
—3dJg ga = 65,0003 x7H » 12 5,460
—s2gd 120,000& »7H 128 10,080
d= MUz ot XN 10,000 10,000 0
307 gl2tol & 10,000 10,000 0
04 DIZHHALALSE E X 10,000 10,000 0
O&= M=l & AUMAE It d= XA 10,000
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Lo MEXN=E XA 8,000 8,000 0
307 gl2tol & 8,000 8,000 0
04 DIZFBAFALRI 2 X 8,000 8,000 0
OHM16s HEAM MMM &It 8,000
d=2 2 & &2 MEie NA 20,000 20,000 0
307 glz2tol & 20,000 20,000 0
04 QIZFHALALH 2 = 20,000 20,000 0
Od= & T2l MsUal ot 20,000
= &2 dM=ds XA 20,000 20,000 0
307 21201 A 20,000 20,000 0
04 QIZFHALAIH B = 20,000 20,000 0
Oz &9 MsUsa KAl 20,000
detge M=l ot N 120,000 140,000 220,000
307 21201 A 120,000 140,000 220,000
04 QIZFHALAIR B = 120,000 140,000 220,000
OHM6e0s dMetge M=stal &It 120,000
detg: el Msos ot XN 35,000 35,000 0
307 gl2tol & 35,000 35,000 0
04 DIZFSHAIAIRI 2 = 35,000 35,000 0
OHM29al Mt HoHe! M=sal ot 35,000
dEHE 524 & 165,000 165,000 0
307 glz2tol & 165,000 165,000 0
02 It M AHEE 165,000 165,000 0
OGN S84 XN 165,000
T & M=Us iz X2 80,000 80,000 0
307 21201 A 80,000 80,000 0
04 QIZFHALAIH B = 80,000 80,000 0
Ok &9 M=sUs M=l 80,000
A2 HAE KOHZ2ASH K& 4,000 4,000 0
307 21201 A 4,000 4,000 0
04 DIZHHALALSE E X 4,000 4,000 0
OdIME T2 ASM XA 4,000
d=2 2& U3 60,000 0 60,000
307 gl2tol & 60,000 0 60,000
04 DI2HHALALSE E X 60,000 0 60,000
O&= 2& 58 d==2A U3 60,000
AU ZE 29 39,329 38,744 585
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307 21201 A 430,000 325,000 105,000
02 HAFAAFEX 430,000 325,000 105,000
OF&FC U-12 XI & 100,000
Og&FC U-15 NI & 100,000
OFG&FC U-18 XI & 100,000
OZgaAZ=2g 29 & 130,000
detgEdsia =4 2 A& 1,500,600 1,414,820 85,780
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e 1,200,600
201 Let24E] 26,420 4,140 22,280
01 At 2t 2l 26,420 4,140 22,280
OFGHAE ZHl ANREF P&
100,000& = 12& 1,200
Omgly 228 ¢ 500, 000& *33] 1,500
O&dENAE =& Sl 8,000& »2H »45 720
O&EMAE FIZ D2 LH9 gAz2e 23,000
—ZJE ZENIT LU &X
220,000 »50CH 11,000
—FIIH HUY goAAE B
120,000 254 2 43| 12,000
202 044l 1,680 1,680 0
01 = LH o4 1l 1,680 1,680 0
OBt AIEE? M=sds &4 ol
60,0003 x2H » 142 1,680
206 2 13,500 0 13,500
01 M= 4l 13,500 0 13,500
OZZ2ULH9 gHAEE +< 13,500
—&ASH 7Y 7,000& 5004 3,500
—0ta3 2 20,000& 500 A 10,000
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02 It S AMHE L 72,000 72,000 0
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[ia 1,087,000
dEEMUHNE =24 N 2,000 0 2,000
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02 HAFHAANFEX 2,000 0 2,000
OHe MEXs 208 29 XN& 2,000
MEHs 2208 29 3,000 0 3,000
307 21201 A 3,000 0 3,000
02 B AAHE X 3,000 0 3,000
ooz deds =28 24 XA 3,000
HEHs 30 =20 503,056 498,672 4,384
J| 239,736
< 6,394
s 256,926
ULHMEH KA A X (2SKEA) 146,160 144,840 1,320
J| 73,080
fia 73,080
307 gl2tol & 146,160 144,840 1,320
J| 73,080
[ia 73,080
02 It M AHEE 146,160 144,840 1,320
Oger M KX S X BIXI(5Y) 146,160
J| 73,080
[ia 73,080
Aot MEH SIS X X (KA 20,000 20,000 0
307 glz2+ol & 20,000 20,000 0
02 It A AHEE 20,000 20,000 0
Ot MEMSXEX =2
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Oger Mt sXEX HEFOHI
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Ot MEMSXEX SAH|
100,000& x5H x12& 6,000
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J| 87,696
s 87,696
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SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
02 QI AAIE E X 175,392 173,808 1,584
Oolza MEHSX S X HIEXI ALY (6Y) 175,392
J| 87,696
= 87,696
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J| 2,688
=} 346
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==& 22 10,320 10,320
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oma=sT & 4] 69,760& *4H 22U x4 3| 2,233
omIazs2=& &=x=MHAH 69,760 x5 x2 2 x4 3| 2,791
OIla=2="Z [PHAZ(HHE)
69,760 *3H 2 x23| 838
Om3z32"Hd s 2 HaE &X
69,760 1 2 x53| 698
Ot EE = 20,232,000 x1% 203
201 Bt 1,557 1,557
01 AP 22| H| 1,657 1,557
omzazs2=& W=xJ s 4223 600
OoIA=2Z % Y AXNS(HHE L aAxX S)
550,000& x1CH =13l 550
om3I=2=Z & & 2| A=l
1,354 %304 =103l 407
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OAHEIZ =8 JU(Mx, F)
69,7603 x8H 92 33| 15,069
OAZEIS EL 69,760 *4H x2 U 503 27,904
QALY S E= 69,760 x5 502 17,440
OdMEEZ 90,411,000 *1% 905
201 £B-2dH| 500,760 494,719 6,041
01 At 22l 115,096 95,736 19,360
O e8| 90,696
— 22 E8E FYU(HEX, ELAEE S)
300,000& »12& 3,600
—MgJIsE 7Y 7503 x250& 123 2,250
—3&E4A =d Xl FA 2,000
— =283 FAH 1,000, 000& 22| 2,000
— 20 Fadl 750,000 »23| 1,500
—dIIEE FY(E&ES2 108)
300,000& »12& 3,600
- 22 YRNB(F2, vid, B S)
18,000& 160 x12& 3,456
—23JI+ ¥ 88 7¢ 250,000& *43] 1,000
—Z¥a MM YX2 Y ARE DY
2,000,000& x23| 4,000
— AYAE HEEY =2 (AZEIS,
9, 2s%) 600,000& »12& 7,200
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— 24 FIEMN 225 (AZEE, —1‘—%@)
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—20ZHEY Y CCTV ele =2 (A
SHH 2 6L, =2H) 17,760
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—AZESE MIIANE SEAE D HIIZHA
= 7,000
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